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Question Number : 1 Question Id : 5832241169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to computer hardware, IC stands for:

Options:
1 # Internal Circuit

o  ntegrated Circuit
= # Interrelated Circuit
4 % Isolated Circuit

Question Number : 1 Question Id : 5832241169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 2 Question Id : 5832241170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about DRAM is true?

Options:
; » DRAM is a non-volatile memory

- % DRAM uses flip-flops
=z % DRAM is faster than SRAM

4 v DRAM is a random access memory

Question Number : 2 Question Id : 5832241170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A (DRAM) & a0 H FFaTaf@a # @ Hi9-71 Faa e 22

Options:

| » 3 (DRAM) & 3ETET (Fie-arorerse) JANT &

, » 3N (DRAM) TFea-Falla &7 39317 YT ¢

5 » S (DRAM) THYH (SRAM) & #fae o=t 2l

, 3% (DRAM) s mefRes #fEem (=7 vegw) #a9 &

4.



Question Number : 3 Question Id : 5832241171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A CPU with a clock rate of 2.4 MHz can perform clock cycles per second.

Options:
, % 24.000.000
»  2.400.000
5w 240.000
4 ® 24.000

Question Number : 3 Question Id : 5832241171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
2.4 FETEER FAE [T I TR W (CPU) TR HEE Fle HAfRT 907 FT FEAT £

Options:

. % 24,000,000
. » 2,400,000
- % 240,000

. = 24,000

Question Number : 4 Question Id : 5832241172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is smallest in size?
Options:
, « FPalmtop

> % Notebook

- » Desktop

4 % Laptop

Question Number : 4 Question Id : 5832241172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fafEaT 7 @ F01 3K #F §99 oeT 872

Options:
| v TTHET

EIREED

o ® 3
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4 % o9



Question Number : 5 Question Id : 5832241173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The output displayed by the computer monitor is called:
Options:

|« Soft copy

» % Hard copy

5 » Colour copy

4 % Drycopy

Question Number : 5 Question Id : 5832241173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FY AT @R fGU 31T 313TYe & 4T &gl 1 22

Options:

b .

Question Number : 6 Question Id : 5832241174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is made up of the RAM and ROM?

Options:
, w Control Unit (CU)

- # Registers
5  Main Memory Unit (MMU)

4 w Arithmetic and Logic Unit (ALU)

Question Number : 6 Question Id : 5832241174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IH (RAM) 3T A (ROM) ¥ et mafafaa & ¥ &1 o1 272

Options:

| x FE FEE (CU)
> % TSTER
. o AT FA Fhwe (MMU)

, « FREREE AR Wi e (ALU)



Question Number : 7 Question Id : 5832241175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The lower the DPI the better the quality of printing.
IT} An optical disk uses laser beams to read and write data.

Options:
; w 1-False II - False

> % 1-Tre, II - True
5 % 1-True. II - False

4 + 1-TFalse II - True

Question Number : 7 Question Id : 5832241175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el IT TTeld &40

) #rfram$ (DPI) fa=m &5 & HEor #7 0raear 3a= & agaT gy 2
) v 3iftese 3% e &1 Tea 3R fows # aeR fRorgsr &1 y3eT & gl

Options:

x| - T, - T
o w |- W@ N - T
2w |- T, Nl - e
L | -7, 0 - T

Question Number : 8 Question Id : 5832241176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) QWERTY A) Rewritable CD
II) CD-R B) Keyboard category
III) CD-RW C) Recordable CD

Options:
, % I-AII-C.III-B

, » I-B.II-C.II- A
2 % [-B.II-AIII-C
. % [-C.II-B.II-A

Question Number : 8 Question Id : 5832241176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

=fareEg &1 & F3

He-1 qe-2
) #=<f (QWERTY) A) frgeas #i€r (CD)
) ¥&-31 (CD-R) B) f&EE &1 91

lll) F¥r-3msesg (CD-RW)  C) R &3 I9g HiEr (CD)
Options:

pom 4 = Bl = B
st =B &, [0
o 1 =B = Kol
e 1=8, 1128, [

| I T |
> 0O >» O

Question Number : 9 Question Id : 5832241177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Java is a programming language.

Options:
, w frst-generation

> % Second-generation
- o high-level

4 # low-level

Question Number : 9 Question Id : 5832241177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AET T Fr SRR ST 2

Options:

1 ® qﬁ'ﬁ
> # E-HET

4 W ﬁ-‘lﬁ-ﬁﬂ'

Question Number : 10 Question Id : 5832241178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A set of system programs that controls and coordinates the operations of a computer system is called?
Options:

, % Utility software

-  Operating system



- % Firmware
4 % Freeware

Question Number : 10 Question Id : 5832241178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THFes 9FTH F7 S §EE Foge TENA % HEA # St HT AEssiaS BT § 3 T FE 27

Options:

. REE T
5 of HEeT A=
Sﬁm
4_%%

Question Number : 11 Question Id : 5832241179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to multimedia. MP3 stands for:

Options:

, v MPEG-1 Audio Layer 3
> % MPEG-3 Audio

- % MPEG-3 Audio Layer 1
4 # MPEG Audio

Question Number : 11 Question Id : 5832241179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AedHZar & Tesf # MP3 &1 T &

Options:

| v THEORST-1 IR S 3

o » THAEST-3 IR
, « UHAMEST-3 HIRAT AT 1
, x THERST R

Question Number : 12 Question Id : 5832241180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Windows-7 is a proprietary software owned by:
Options:

; % IBM

> « Microsoft



5 # Apple
4 % Intel

Question Number : 12 Question Id : 5832241180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fEe-7 vy F T=fdT 1 veer FFas aF 22

Options:

| % FEETA (IBM)

o o :igailzulla
5 % UTOel
4.%’3 W

Question Number : 13 Question Id : 5832241181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about Unix is false?

Options:
, w Unix is a multitasking operating system.
-  UliX is an open-source software.

- % UnixX is a multi-user operating system.

4 % Unix is a multiprogramming operating system.

Question Number : 13 Question Id : 5832241181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IfaF & X # Fa@a J ¥ Fia-a F2e o 82

Options:

- Ifaeg T EW?[ (multitasking) 3T faw=a
Ifaes T HTT-HE A ¢

i Ffass ag-mﬁarm HOITE=T @A &l
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Question Number : 14 Question Id : 5832241182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 512 Bytes?

Options:
, % 27 Kilobytes



, % 2 Kilobytes

5 « 27 Kilobytes

4, % 27 Megabytes

Question Number : 14 Question Id : 5832241182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T # 9 #ar 512 915 & =T 22

Options:

| % 27 TFarEmEe
2iia 2° feralamse
. v 27 framEEe
, x 2° AIMETEE

Question Number : 15 Question Id : 5832241183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following function keys is used to launch boot option menu in Windows-77

Options:
1 ® Fo

> % F10
=z B F5
i Fl2

Question Number : 15 Question Id : 5832241183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ﬁmﬁﬁa%ﬁm@mm@ﬁ@mma@ﬁmﬁamm¢ﬁmmaﬁ
Options:

> ® F10

4 v F12

Question Number : 16 Question Id : 5832241184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a DOS command to display IP address of a computer connected to the Internet?

Options:
1 ® 1P

> % IPV4



- v IPCONFIG
4 % IPCONFIGV4

Question Number : 16 Question Id : 5832241184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TeafEa # 7 sia ®AE e § 9 7 & T (IP) 99 el w & 5w (DOS) wAE 87

Options:

> u |IPV4
z « IPCONFIG

, # IPCONFIGV4

Question Number : 17 Question Id : 5832241185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following activity sequence is used to customize screen resolution in Windows-77

Options:
, w Right click on Desktop — Properties — Settings Tab

> » Right click on Desktop — Properties — Display Settings Tab
- » Right click on Desktop — Personalization — Resolution

4  Right click on Desktop — Personalization — Display — Adjust Resolution

Question Number : 17 Question Id : 5832241185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

-7 7 = FeE W FRAES Fe & or e #7 7 B Rt s oo
forom = B2

Options:
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Question Number : 18 Question Id : 5832241186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcut keys is used to open run program window?

Options:
1 % Ctl+R

o R Alt+R



5 « Win+R
4 ® Ctrl+Shift +R

Question Number : 18 Question Id : 5832241186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

frafaf@a & @ 9 oicere Fi &1 94197 3 9eEmA 98 @ee F fore frar s 82

Options:

. % Cirl + R
, = Alt + R

2« Win + R

. = Ctrl + Shift + R

Question Number : 19 Question Id : 5832241187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Lock and Log-off are two different system-closing options in Windows-7.
IT) The “services.msc” lists all the services running and stopped by a Windows system.

Options:
1 ® I-Tre, II-False

5> % L- False. II - True
=  1-True, II- True

4 % 1-False II - False

Question Number : 19 Question Id : 5832241187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEr IT I FAT0:

) fHES-7 7 o HT ae-3TF ey 92 F33 I &7 e300 3 g
1) “services.msc” faEIar fFed Z@RT = W@ 3R &g #7 o5 waf Farsl & ghEg Fr ¢l
Options:
o 1 = EE 1) =~ S5
s || =i I -
2w |- T - '

, x| - 7o, Il - T

Question Number : 20 Question Id : 5832241188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Match the following.

Set-1 Set-2
I) Print command A) Ctrl+P
IT) Refresh the computer B) Ctrl+ W
IIT) Close a window ) ES

Options:
. % [-A/II-B.II-C

, » I-AII-C.II-B
o« 1-C.II-B,II- A
, % I-B.II-C.II-A

Question Number : 20 Question Id : 5832241188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

=T # Jae F: 1
Te-1 Te-2
) e FAE A) Ctrl + P
) e # frr &= & for B) Cirl + W
) 33T 5 #F3= & T C) F5
Options:
=1 -All-B ll-C
swl-A ll-C ll-B

w128, 01 2B, -~
ex 1B 08, -5

Question Number : 21 Question Id : 5832241189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Maximum number of user accounts that can be created in Windows systems i1s:
Options:

1. %

I

2_3«3—1
3_%38

4 Any number of accounts. but limited to available memory space.

Question Number : 21 Question Id : 5832241189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
s fAwew F 3fOwas 3TARTRAT WId (T3 THI3E) FA0 AT Tohel &

Options:




> % 4
3&38
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Question Number : 22 Question Id : 5832241190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following category of users can make any desired changes in the computer?

Options:
1 % Guest

> « Administrator
- % Standard

4 % Normal

Question Number : 22 Question Id : 5832241190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
fFefof@a & & 58 9oR &1 9927 39Tl #5ge H Fail 3aege 9iads #¥ Jehar 82

Options:

1_@*11‘-_::'
, v EARTELR
3@3;‘%‘_5’?
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Question Number : 23 Question Id : 5832241191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS commands is used to kill a running process?

Options:
1 ® KILL PID

> « TASKKILL PID
- % TERMINATE PID
4 % STOP PID

Question Number : 23 Question Id : 5832241191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e =1 9ferar &1 ‘e = & o T=fof@a # 8 #ia-8 31§ (DOS) FATS 97 g 27

Options:

. % KILL PID



- v TASKKILL PID
- = TERMINATE PID
, % STOP PID

Question Number : 24 Question Id : 5832241192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following modes. a computer operates with limited functionalities?

Options:
1 « Safe mode

> % Private mode
= % Public mode

4 % Protected mode

Question Number : 24 Question Id : 5832241192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
frfof@a & @ 5w A &7 Foaer OffT FAeEart & |1 Ja0aqr 82

Options:

| v HWE AE

2 ® T$IT AIS
= % Yfeolsr AS
4 % GICHE AL

Question Number : 25 Question Id : 5832241193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Encryption converts data into:

Options:

1 % Word
o % String
-  Cipher
4 % Dipher

Question Number : 25 Question Id : 5832241193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

e
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Question Number : 26 Question Id : 5832241194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Data encryption converts data into another form and protects confidentiality.
II) Symmetric-key cipher systems use different keys for encryption and decryption.

Options:

1 « 1-Tre, II-False
o L False. II - True
3 % I-True, II - True

4 % 1-False II - False

Question Number : 26 Question Id : 5832241194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hel IT ol FaT0
) #er efEFeas S 1 o w9 # aftafEe s ¢ e F o geiEe wwe
Il) FATET F3T (Symmentric-key) fAwT fires # tierm At Rfrem & B seer-amm
Femat & s fRar s #

Options:
Lo |- =8 - e

, % | - 7T, 1 - T

Question Number : 27 Question Id : 5832241195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcut keys is used to undo a result?

Options:

1 & Clil+Z
o R Alt+Z
5 % Shift+Z

4 ® Win+Z

Question Number : 27 Question Id : 5832241195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



fFrafaf@a # & FIF-61 ASHT Foit T TRUMH F FA-Z 0 & [0 TIFT gl 87
Options:

¢ Ctrl + Z

o A Z

- x Shit + Z

. % Win + Z

Question Number : 28 Question Id : 5832241196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS commands is used to copy a file?

Options:
. « COPY

o R cP
s ® COP
4 % CPY

Question Number : 28 Question Id : 5832241196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

afaf@a & @ #ia-81 578 (DOS) FATS TF FIST &I &l H & [0 Tad &l &7
Options:

, » COPY

- % CP

- % COP

. % CPY

Question Number : 29 Question Id : 5832241197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following DOS commands is used to delete a directory?

Options:
, * RMDR

> « RMDIR
- % DELDIR
4 % DELETEDIR

Question Number : 29 Question Id : 5832241197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
afof@a & & Fi9-8 519 (DOS) FATS Te SEiFedl # Balc i & o TIoa &ar 82

Options:



. = RMDR

- v RMDIR

- % DELDIR

. #» DELETEDIR

Question Number : 30 Question Id : 5832241198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements about batch file is true?

Options:
, « Itisalist of commands to be executed by command-line interpreter.

> % It is saved with .batch extension.

- % Itisacollection of directory.

4 % Itissystem-generated command file.

Question Number : 30 Question Id : 5832241198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
o BT F 9N # AeAaad § ¥ FI9-097 FAT TET 87

Options:

ll_wwm-mmmﬁwﬁammmﬁw@%l
, » $¥ .batch TFHIS & WY ¥F FRAT F€T B

. » T SAFEY F UF TIE AT 2

. » T TTeA ga 59 # 75 FAE B A gl

Question Number : 31 Question Id : 5832241199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) File extension is used to represent its type.
IT) Run-length encoding is a compression algorithm.

Options:
; & 1-True, II- False

i M L False. II - True
z « 1-True, II- True

4 u 1-False II - False

Question Number : 31 Question Id : 5832241199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Lw |- FE, - e
o % | - T, 1l - FE
PR o R

L x| - e, 1 - I

Question Number : 32 Question Id : 5832241200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 set-2
I) .jpeg A) Word document
I) .rar B) Image file
IIT) .docx C) Compressed file

Options:
; » I-AII-B.II-C

» % [-AII-C.II-B
5 v [-B.II-C.II-A
4 % I-B.II-AII-C

Question Number : 32 Question Id : 5832241200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FeAtaTaT &1 Feaa a4
Te-1 Te-2
) .jpeg A) a3 SEFTHT
) .rar B) A= wiseT
) .docx C) FFaTE HIEa
Options:
o d-AN-8.l-C
> l=-ANl-Cll-B
sl -B NI1-C Il -A
iud=-B,-A.-C

Question Number : 33 Question Id : 5832241201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
What is the shorteut key to align texts in MS-Word documents to the center?

Options:
, % AR+E

Alt+C
o Cirl+E
Ctl+C

®

®

Z.

®

=,
4

Question Number : 33 Question Id : 5832241201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UHATH-2 (MS-Word) STFIHE H TS (SFF2) &I &g H WIET F HI AEHT Fal F7 22

Options:

. % Alt + E
, % Alt + C
2« Ctrl + E
L% Ctl + C

Question Number : 34 Question Id : 5832241202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, pressing “End” key moves the cursor at the end of the:

Options:

, w Paragraph

=~ % Document

5 « Current line
4 % Screen

Question Number : 34 Question Id : 5832241202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THTH-92 (MS-Word) & “End” $=il #I S8l ¥ FH# fhEeh 3id # 9« Sam 872

Options:

}. % SRpIE
v 3

> % N

4_%%

Question Number : 35 Question Id : 5832241203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following can be used to create envelops and labels for your mail merge?

Options:
1 % References tab

> % Insert tab

-  Mailings tab

4 # Review tab

Question Number : 35 Question Id : 5832241203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ffof@a # & e yaer aa 71 &g e A3 o9w a9 & e G o w5 82
Options:

| YR ¥
o » FAEC CH
S.Jﬁﬁ_‘mh
ow R

Question Number : 36 Question Id : 5832241204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The space left between the margin and the start of a paragraph is called:

Options:
, » Spacing
- % QGutter

5 » Alignment

4 « Indentation

Question Number : 36 Question Id : 5832241204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Aot AT SR B T & ET F FUH FOFA FE A 82
Options:

. w TafdEr

> % el

3_wﬂm
4.#"%%31?

Question Number : 37 Question Id : 5832241205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



creates a large capital letter at the beginning of a paragraph.

Options:
1 % Thesaurus

> % Pull Quotes
5 » Hyphenation
4 Drop Cap

Question Number : 37 Question Id : 5832241205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TN & AT H T §3 HHN & Hiucd el a1 8l

Options:

Question Number : 38 Question Id : 5832241206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) SmartAit is used to insert decorative texts in your document.
IT) Watermark is used to insert ghosted texts behind the content on the page.

Options:
1 % I-True, II - True

> % I-True, II - False
5  1-False Il - True

4 % 1-False II -False

Question Number : 38 Question Id : 5832241206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HEr AT T[T §dIC:

) TARE HIE T TANT AFgHE H TAGE TSN F FEAfAT A F fow fFar Fmar 2
ll) FTeTATR T 92T 95 H WA F S TT T (ghosted) 918 =Tea F e fxam smar 21

Options:

Low |- WL N - wE
% | - @, - Teg



2w |- 3o, I - FEr
4w |- FTE, 1l - FTerd

Question Number : 39 Question Id : 5832241207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The value of the Excel expression =LEFT(*MICROSOFT EXCEL”. 10) is:

Options:
1 % OSOFT EXCEL

> % MICROSOFTE
=  MICROSOFT
4 % SOFT EXCEL

Question Number : 39 Question Id : 5832241207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TFHeT FHFIOT =LEFT(“MICROSOFT EXCEL”, 10) &T A &
Options:

. %= OSOFT EXCEL
. » MICROSOFT E
- v MICROSOFT
. % SOFT EXCEL

Question Number : 40 Question Id : 5832241208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Excel expression =ROUND(20.945, 2) gives:

Options:
1 ® 20

5 o 20.95
5 % 20.94
4 % 20.90

Question Number : 40 Question Id : 5832241208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TeFHel AHTRIOT =ROUND(20.945, 2) & AT ¢

Options:

& 20

> « 20.95
z # 20.94
4 % 20.90



Question Number : 41 Question Id : 5832241209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is the correct arrangement i the descending order of their sizes:
Options:
, = Worksheet. Workbook. Range. Cell

-  Workbook. Worksheet. Range. Cell
- # Worksheet. Range. Workbook. Cell

4 » Workbook. Range, Worksheet. Cell

Question Number : 41 Question Id : 5832241209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frafaf@a 7 @ 3R & 5 ¥R FA H Faeyd FEed I+

Options:

| TP, TFGF, T, WA

£ L
T, FHIT, T, T
oo Fa |

FFfE, ==, Toas, T
= #® 3

£ £
L % TTH, ==, T, O

Question Number : 42 Question Id : 5832241210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =NOT(10>11) is:

Options:
1 ® 0

o W 1
3 « TRUE
4 % FALSE

Question Number : 42 Question Id : 5832241210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TFHeT FHEROT =NOT(10>11) &1 AT &

Options:

1 & 0
> % 1
z v TRUE
4 % FALSE



Question Number : 43 Question Id : 5832241211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =ABS(-150.59) 1s:

Options:
1« 150.59

> % -150.59
5 % 150.00
4 % -150.00

Question Number : 43 Question Id : 5832241211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHT HHFRIOT =ABS(-150.59) T AT &

Options:

. v 150.59
. % -150.59
- = 150.00
4, # -150.00

Question Number : 44 Question Id : 5832241212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following Excel functions changes TRUE to FALSE and vice-versa?

Options:
1 ® AND

A OR
3  NOT
4 % IF

Question Number : 44 Question Id : 5832241212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=a@g § ¥ #19-91 t8a 39 TRUE # FALSE 3T FALSE #r TRUE & Sgaar g7
Options:

1 % AND
> % OR
2 « NOT
q-m JF

Question Number : 45 Question Id : 5832241213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



State whether True or False,

I) All formulae in MS-Excel must begin with an equal to (=) sign.
IT) MS-Excel supports both “absolute™ and “relative™ cell reference.

Options:
1 & 1-Tme, II-True

> % 1-True, II- False
% L- False, IT - True

4 % 1-False II - False

Question Number : 45 Question Id : 5832241213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEr I7 TTeid FIC:
|) THUH-TFAA (MS-Excel) 7 Tl §F 01 & &g (5) ¥ & @1 =g
Il) THTH-TFH (MS-Excel) & & “qo1" 3R ‘@981 a1 Hegsll H HH HLAT gl

Options:
Lo | -FEL N - Y
o w | - FE, |l - e

s % | - 7o, |l - JE
o ow |- 7Ed, 1l - T

Question Number : 46 Question Id : 5832241214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) DELTA A) Tests whether two numbers are equal

II) EXACT B) Counts the number of cells containing numbers

IIT) COUNT C) Tests whether two text strings are same
Options:
, & [-AII-B.II-C
> % I-B.II-ATI-C
z % I-C.II-ATI-B
. v [FAII-C.II-B

Question Number : 46 Question Id : 5832241214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



f=fag &1 e F:U

-1 He-2
) DELTA A) Sar & 5 =T &Y FEEe e §
1) EXACT B) ¥&IT-IFA Tl hl HEAT HI 0T HT ¢l
) COUNT C) =T ¢ & Far ar 9 21 v+ & &
Options:
% 1-All-B ll-C
o« -B Il-All-C
sxl-C Il-All-B
Lo l-All-C lIl-B

Question Number : 47 Question Id : 5832241215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a search engine?

Options:
1 « Safari

»  Google
- » Bing
4 % Baidu

Question Number : 47 Question Id : 5832241215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=ofeT # ¥ Fa1 T T S 76T 27
Options:

o W B,

3_&5%1?1-
4.33%1

Question Number : 48 Question Id : 5832241216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices is generally used to connect home computers to the Internet?

Options:
1 « Modem

5 % Gateway



= % Monitor

4 » Peripheral

Question Number : 48 Question Id : 5832241216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fFATaTad A ¥ FF-0T S50 A AT 0 9 F Foged F Fedee U HAisa & O 9 @ 87
Options:

o B ?’Eﬂ'

3 % H AT

4 B ﬁﬁm

Question Number : 49 Question Id : 5832241217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following file type is not transferable through e-mail?

Options:
1 ® DOCX

> « EXE
T B T
4 % PDF

Question Number : 49 Question Id : 5832241217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
F=oEs va IR # ¥ 50 -89 & SanT €97 FE0 51 gaar?

Options:

1 # .DOCX
> « .EXE
z % 1L

4 % .PDF

Question Number : 50 Question Id : 5832241218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Voice mail. E-mail. and Online social networks are the example of:

Options:
1. Cmnputer conununication

> % Tele-communication

- % DBridge communication



4 % Router communication

Question Number : 50 Question Id : 5832241218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
J5H A, -7 3 HFASA BT AcaF [hHF IS 27

Options:

: 1
1 o Hﬁd*{ Held
- R é?ﬂ'-ﬂﬂll

- » B TR

4 % UFH FIR

Question Number : 51 Question Id : 5832241219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) HTML is a language used to create drivers.
IT) Telnet is used for remote login.

Options:
; & 1-True, II- False

>  1-False, Il - True
= ® I-Tre, II - True

4 % 1-False II - False

Question Number : 51 Question Id : 5832241219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HEr IT T 41T
) T=éTHETS (HTML) TsF OHT 197 & S 33 a0 & foe sgaa ger 21
) ToTeAe AT ST &3 & fore g3 &Far Jar 2

Options:
Low |-\ - e
o | -TEF - 'R

ox | -WE, Il -

x| - 7o, Il - T

Question Number : 52 Question Id : 5832241220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following.

Set-1 Set-2
I) POP A) Online social networlk
II) PageRank B) Search engme algorithm
IIT) MySpace C) E-mail refrieval protocol

Options:
. % [-A/II-B.II-C

, w I-A.II-C.II-B
2w [-C.II-B.II-A

4 % I-B,II-ATII-C

Question Number : 52 Question Id : 5832241220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T=fafEs # s F:3
He-1 ae-2
) 917 (POP)  A) HTaTes<] T e+

) o= =+ B) WIS £ Tl eH
) AT C) s-Aar N&ger QR

Options:
s l-All-B ll-C
,xl-A1Nl-C ll-B
wapd =G U =B, Ul - A
sul-B ll-All-C
READING COMPREEHERMSTONM
Section Id : 583224169
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224169

Question Shuffling Allowed : Yes



Question Id : 5832241221 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

Read the following passage and answer the questions given
after it.

Fentanyl is a synthetic. narcotic- like diug prescribed for severe
pain. It helps reduce the feeling of suffering and can induce a state
of extreme relaxation and happiness.

Fentanyl was made in 1960, and introduced as an anesthesia. It can
be used as a patch. an injection. by smoking. or a lollipop. In India.
it is mostly given as an analgesic in Operation Theatres and
Intensive Care Units, especially after surgical procedures. It is sold
under different brand names.

Fentanyl is up to hundred times more potent than morphine. and
can be 30-50 times more powerful than heroin. While it is used for
medical treatment, it can also be misused. According to the Centers
for Disease Control and Prevention. it is frequently mixed with
heroin. cocaine or both when sold illegally. in many cases without
the user’s knowledge.

Fentanyl can lead to death. An overdose can result in severe
respiratory depression or arrest. during which breathing is slowed
or stops altogether. But it is very difficult to determine the standard
dose of drug which can lead to death. A dose that can kill one
person may provide medicinal pain relief to another. But such
painkiller drugs can. if taken for long. build up tolerance to them.

In March 2015. the US Drug Enforcement Administration issued a
nationwide alert about the dangers of fentanyl. It said that Mexican
authorities had shut down several laboratories. The fentanyl that
was seized in Northeast US and California in 2014 had come from
Mexican drug-trafficking organizations.

According to the DEA. the first case of fentanyl abuse came to
light in mid-1970s. From 2005 -2007, the agency said. the drug
caused more than 1.000 deaths in the US. The fentanyl that caused
those deaths came from a single lab in Mexico that was later shut
down.

Sub questions

Question Number : 53 Question Id : 5832241222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which is the most powerful drug
out of the following?
Options:

, % Morphine

-  Fentanyl

z % Cocaine

4 % Heroin

Question Number : 54 Question Id : 5832241223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an
effect of the drug. Fentanyl?

Options:
; w Respiratory depression.

- u Induces a state of happiness.

-  Feeling of pain.

4 % Relaxation.

Question Number : 55 Question Id : 5832241224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be
inferred from the passage?
Options:
Even a small dose of painkillers
. % can build up tolerance to drugs.

People sometimes knowingly take this
b % drug when mixed with heroin or cocaine.

The drug responsible for causing 1,000 deaths

2 ® in U.S originated in a single lab in California.

The effect of a particular dose of a painkiller

P varies from one person to another.

Question Number : 56 Question Id : 5832241225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fentanyl is NOT consumed by:
Options:

; « drinking



> % lollipop
- % smoking

4 % aninjection

Question Number : 57 Question Id : 5832241226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the light of the passage.

what is the full form of DEA?

Options:

, w Department of Economic Affairs

- % Drugs, Eating, and Alcohol
- % Department of Environmental Affairs

4 « Drug Enforcement Administration

Question Id : 5832241221 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 53 Question Id : 5832241222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Toeg # ¥ 990 ATea2mer
gar HA-Er &7

Options:

i % 3TRrH
5> Bellerer
5 % ShIehleT
4.%?1‘“%'113’7"r

Question Number : 54 Question Id : 5832241223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fAefEa & 9 a1 Sarfae gar
T TF T4 FaT 872

Options:

% ¥TEA FH AT BT

, » HEG 1 FufT meww g
. o & FEEH &
4 % HAH Feer

Question Number : 55 Question Id : 5832241224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
=H @ ¥ TeeTeT # ¥ sie-an
Ty AerTer 37 Gahar 27

Options:
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Question Number : 56 Question Id : 5832241225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
thelfelel & BaeT fh@ T &
Ter forar =rar 22

Options:

| v 9
o % AT
THHTA

T ®oa
., x SoEer

Question Number : 57 Question Id : 5832241226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=H o@ H ¥ I =T (DEA)
FT A T FAT 87

o x 99, ST TS oehiEe
. % [3UCHE HTH TAARRAHTH Jhad
. T Temraae vsfafaTsee

CUANTITATIVE APTITUDE
Section Id : 583224170
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224170
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 5832241227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



75% of & munber is equal to three=seventh of another munber. What is the ratio between the Arst manber and the second
munnber, respectively?

Options:

1 4.7
> % 7:4
=% 12:7
4% Til

Question Number : 58 Question Id : 5832241227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U HEAT H 75% TEL HEAT 3 3/7 F T g1 Tgen AT THI FEAT FH A FT 2E?

Options:

1 47
> % 1.4
=% 12: 7
4 % 7 :12

Question Number : 59 Question Id : 5832241228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A merchant makes a profit of 20% after giving a discount of 50% to his customer.
What will be his profit percentage. if given discount is 40%?

Options:

1 ® 36%

z % 37.5%

4 « 44%

Question Number : 59 Question Id : 5832241228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T SAIRT 39 g H 50% FT T FHT 20% FT T8 9od FIT ¢
IR & T TT 40% B, A IHET T IfFeraaT FA FA?

Options:

% 36%
, % 25%
s % 37.5%
L v 44%

Question Number : 60 Question Id : 5832241229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A can do a piece of work in 15 dayz. B can do the same work in 25 days. In how many days will A and B together
comnplete the work?
Options:

9

days
9

3 - days
g
1

8; days

8
3— davs
g W g T

Question Number : 60 Question Id : 5832241229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AFTrasrF 15 R T ST Fa1 &1 B 30 10 =7 25 77 7 37 mFa7 &1 U7 A T B @y w19
F A F F w FEw G @ = o £

Options:

3
1#;95%?
9
%335%?['
i
3.‘%85%?
32 R

% °9

Z.

4.

Question Number : 61 Question Id : 5832241230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A mills container consists of 20 litres of milk. From this container. 4 litres of milk 1s taken out and replaced with water.
This process 1s repeated one more time. After this, what would be the amount of pure milk left in the container?

Options:

;% 122
> % 124
- % 12.6

i 128

Question Number : 61 Question Id : 5832241230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ueh ZX & U & 20 e gU £ W W ¥ 4 Fret 2y e & ww & s394 & o Fer B e
TZ 9fFTT UF ¥ 97 ST S € HE 9 ¥ o o A a4 gt

Options:

L % 122
, % 12.4




s % 12.6
4w 128

Question Number : 62 Question Id : 5832241231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the average of § numbers is X. the average of first four is y and the average of last four is z, then which of the
following relations is true?

Options:
, 8 Z=YTEZ

2 % X=Y*2

5 @ X=YTZ

4 % X=2ytz

Question Number : 62 Question Id : 5832241231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afE 8 HEmmat & AT « ¥, T9T 39 ¥ 9EAr = mEanat & aitwe y ot sfew o vt
WO z B, & F=AEE 7§ Flea 5=y w8 g

Options:

1.332:}1+Z

2.33 x:y+z

gigp SRS Y

g XS2dy+z2

Question Number : 63 Question Id : 5832241232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The diameter of a wheel is 42 cm. how many revolutions will be made by the wheel in covering a distance of 4092 m?
Options:

1 % 3600

~ % 3200

=z « 3100

4 % 3300

Question Number : 63 Question Id : 5832241232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fredr ofyw 7 =W 42 Wh &) off 4002 Fex § = 3y & 7F & & ofev aE T T AT
T D

Options:

. % 3600
» % 3200



- « 3100

4 % 3300
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Question Number : 64 Question Id : 5832241233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many four letter meaningful words can be formed with the second. fourth. sixth and seventh letter of the Word
STUMBLE'. nsing each letter only once in each word?

Options:

1 « One

> #% Two

3 % Three
4 % Four

Question Number : 64 Question Id : 5832241233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e ‘STUMBLE' & zZmY, =t ©F 3 AFs #eml & 90 307 I Fas w0 aeg a9 a9d &
Welles WeE H OET ST shEe Us 91 WO H ST AT Hehr §17

Options:
1. Teh

R aﬁ-
= W E—’ﬂ?-l‘
4 R =T

Question Number : 65 Question Id : 5832241234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In a certain code language, GRANT is written as UOBSH and PRIDE is written as FEJISQ.
In the same language. SOLD will be written as:

Options:
, % EPPT

> % EPMT
3 « EMPT
4 % TEMP

Question Number : 65 Question Id : 5832241234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

s fAREa FT oo F GRANT & UOBSH 3R PRIDE #' FEJSQ foram T 21
IGT 99T F SOLD = =r@r Ameem:

Options:

% EPPT
., # EPMT
2 ¢ EMPT
. # TEMP

Question Number : 66 Question Id : 5832241235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ankit walles 20 m north. He furns left and walks 10 m and then again he twns left and walks 20 m. How far and in
which direction 1s Ankit Irown his starting poimt?
Options:
1 % 10 m North-West
-~ % 10 m East
=z % 10 m South- East

4 « 10 m West

Question Number : 66 Question Id : 5832241235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
HiFA 20 FIeT 37T & AT T4 | =T A0 g3 £ HR 10 Hey 9w 7 N R g A g3 w
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Options:

% 10 AT Feaw-afe=H
L 10 AT 97

. » 10 #eX ZfAO-IE



Question Number : 67 Question Id : 5832241236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How is Rakesh’s father’s sister’s son’s only sister related to him?
Options:

1 % Sister-in-law

> % Sister

= % Mother

4 + Cousin

Question Number : 67 Question Id : 5832241236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR & Far F7 9@ F T T THRATT FgT SHDT FAT 872
Options:

| w STe

5 % dgel

B A

LR

Question Number : 68 Question Id : 5832241237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If ‘+’ means ‘divided by’: ‘-* means ‘added to’; “** means ‘subtracted from’; and ‘/* means ‘multiplied by’: then:

26—15+5%4/2="
Options:
1 ® 15

o v 21
4 W 20

Question Number : 68 Question Id : 5832241237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ofg ' & 3 ‘uEr, 2 F I AT, @ o e T, AR @ e Ao @, &

26-15+5+4/2=272
Options:

; = 15
> o 21
2 % 25
4 % 20



Question Number : 69 Question Id : 5832241238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. a statement followed by two conclusions is given.
You have to select a conclusion that follows from the statement.

Statement:
Mrs. A is one of the probable candidates shortlisted for the post of Director of SKV institute.

Conclusion:
I.  Mrs. A will not be selected as the Director of SKV institute.
II. MNbos. A will be selectaed as the Director of SKV institute.

Options:

; w Only conclusion I follows

> % Only conclusion IT follows

= « Either I or II follows

4 ® Neither I nor II follows

Question Number : 69 Question Id : 5832241238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 5832241239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the headquarters of Pan American Health Organization (PAHO)?

Options:

, « Washington DC
- % Oftawa

z % New York

4 % Mexico

Question Number : 70 Question Id : 5832241239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
O HANET gou AETAESa (PAHO) 1 HEaed F&l 27
Options:
1 EI'IﬁWET-I' 2T
o % HieEr
=R

3 ® ™

4 W ﬁﬁ#ﬁﬂ#

Question Number : 71 Question Id : 5832241240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The World Trade Organization (WTO) came into effect in which of the following year?

Options:
1 ® 1990

5 % 1993
5 « 1995
g w 1997

Question Number : 71 Question Id : 5832241240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
faed =IR He e (WTO) fosafaied & & forg a¥ & gerr gam?

Options:



| % 1990
. % 1993
- v 1995
. % 1997

Question Number : 72 Question Id : 5832241241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who won the Nobel Prize for Peace for the year 20147

Options:
1 % Barack Obama

- % Ban Ki Moon

5  Malala Yousafzai and Kailash Satyarthi

, » European Union

Question Number : 72 Question Id : 5832241241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I 2014 & Ager onifea [EFr Fa Far?
Options:
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Question Number : 73 Question Id : 5832241242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following actor was declarad ‘Best Actor’ in 64 National Film Awards announced m Apral 20177
Options:

, « Akshay Kumar

> % Aamir Khan
- » Ranbir Kapoor

4 % Ajay Devgan

Question Number : 73 Question Id : 5832241242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 74 Question Id : 5832241243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following country will host the ICC Champions Trophy 20177

Options:

1 % India

> % SriLanka

- % South Africa

s England and Wales

Question Number : 74 Question Id : 5832241243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HEEE (ICC) IfTg erdr 2017 #r A Aaaf@a & & Sia-9r 9 FEm?
Options:
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Question Number : 75 Question Id : 5832241244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following is the author of the book ‘India wins Freedom’?
Options:
, w Kuldeep Nawar

> « Maulana Abul Kalam Azad
= % Jawaharlal Nehru

4 #% Indira Gandhi

Question Number : 75 Question Id : 5832241244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 5832241245 Question Type: TYPING TEST Display Question Number : Yes

Wornen's History Month is an annual declared month that is traditionally held in March, but the study of
woITlen's history is wvaluable all twelve months of the year. Wormen have overcome daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 5832241246 Question Type: TYPING TEST Display Question Number : Yes

Wornen hawve been the victims of viclence all through the ages in all societies, cultures, regions and
corrrmunities across the world. India, which is known for worshipping wormen, records the highest number of
violence cases, in terms of domestic, physical, public and emotional violence. This has been into practice since
the post Vedic period. The doors of educational, economic, social, political and cultural opportunities were
gradually closed for therm. Giving birth to a boy was the matter of rejoice, while the girl child rermained
unwarlted and often killed after birth. Their personal freedorm in respect of movernent, dress, diet and
marriage came to be dominated by men. Not just this, people started to enslave the women of their family.
Warious obligations, restrictions and regulations were imposed on them and harsh punishments were given, if
a wornarn violated therm Thas, wiolence against wornen came to have a societal sanction. As the tirme
progressed, several ills began to creep up in the society. The rights of widows began to be denied and practice
of sati was introduced. The wife being beaten by the husband got religious and social sanction. The violence
further increased, when young girls began to be forced to serve as the devdasis in the temples. This gave birth
to prostitution as part of the religious life. Girls began to be married off at a tender age and in certain
cornrmnunities, the newlorn girls began to be killed by the parents thermnselves. Folygary took Strorng roots in
the society and forced marriages became a corumon trend. The colonial India did impose sorme legislation that
momentarily brought a halt 1o viclence. But largely, the British displayed indifference to the status of wornern.
After Independence, violence against wormen grew in all its dimensions. With the progress of science and
technology, female foeticide also progressed. Most of the doctors got involved into illegal screening of fetus
and if a girl was detected, it was killed in the womb itself. The problerm with Indian society 15 that a worman is
believed to be a weaker sex, which remains dependent on man and therefore can be treated badly. A wormarn,
who is uneducated, unskilled and econornically dependent, always feels that she has no choice besides bearing
all the atrocities heaped on her. The society needs to be sensitized to the fact that women are not meant to be
treated as doormat or punching bag. Wornen mast organize thernselves in groups and raise a collective voice
against all such issues. United efforts can create a public opinion and outcry against the humiliations done to
wornen can work as a deterrent. Attitudinal change is required right from the home, to be able for wormen to
Stand with dignity in this world.
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